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teration function
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ross section measurement

ete” - WX co

V$(GeV) Liny(pb™) N9 1+6(s) = (%) o (pb)
4.18 3161  -53+13.1 0.63 1.055 25.30 —1.0+2.5
4.19 517.5  7.14+44 0.64 1.056 24.99 8.1+ 5.0
4.20 519.4 158464 0.65 1.057 25.26 17.4+7.1
4.21 509.0 29.4+7.9 0.68 1.057 25.89 30.7 +8.3
4.22 500 86.4+11.8 0.71 1.057 25.82 88.3+ 12.1




It to line-shape

12m - (hc)z' [ee B(w)(co) v v (D(\/E)
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e V(s = (my + myp)?)(s — (my —my)?)
P(/s) = s > s

BW(s) =

w(782) MASS 782.65 £0.12 Wev (5=1.9)
w(782) WIDTH 8.49 £ 0.08 Mev

/
¥eo(1P) MASS 3414.75 £ 0.31 wev
¥co(1P) WIDTH 10.5 £ 0.6 Mev

my = M, — 05T, m, =M, —0.5[,
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£ M = (42209 + 2.8) MeV/c?
3T M\ ’ [, = (42.4 + 8.0) MeV
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It to line-shape
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It to line-shape

1 =M, —05I, M=(4220.9 + 2.8) MeV/c?

B Central value
2 = MXcO y O.SF)(co [} = (42.4 £ 8.0) MeV

M = (4218.2 + 3.0) MeV/c?
[ = (41.8 + 8.6) MeV

Sys. error

M = (4222.7 + 3.0) MeV/c?

k: B 207 173008 Sys. error



ptimize y°

FOM= S S: MC simulation
~JS+B S+ B:Datain yx, signal region [3.38,3.44] GeV

+ DATA
—MC

Events /2
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2 requirement is reasonable from MC x? distribution



ptimize w mass window
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ptimize w mass window
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/ w mass window: [M,, — 40;, M, + 40%]
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The w mass window requirement is reasonable
from MC M(z*tm~n?) distribution
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ptimize w mass window

V/5(GeV) o1, (MeV) o (MeV) w mass window (MeV/c?)
4.18 19 6 0.71, 0.81°
4.19 11 6 (0.74, 0.81°
4.20 8 6 (0.75, 0.81]
4.21 8 6 0.75, 0.81
4.22 3 6 (0.75, 0.81




racking efficiency

N : (nGood = 3) || (nGood = 4)
fornt, atleasthavean™, K™, K~
forn—, at least have a ™, K*, K~

n : nGood = 4

ood track : |ny| < 1cm, |R,| < 10cm, |cosO| < 0.93
7T Py > Py, Py > Py, Py > 0.001, Eppe < 1GeV
K : Py > Py, Py > P, Py > 0.001, Eppe < 1GeV

Boss version : 7.0.2.p01

Data : 4.19 GeV, 4.20 GeV, 4.21, ... GeV



racking efficiency
P, € (0.5,0.7)
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ummary

. Changing the iteration function to solve threshold
problem.

2. Optimizing the y* and w mass window requirements.

3. Wi %date the results using new reconstruction data.
. Wil update the memo.

il check tracking efficiency(on going) and photon
et ction for data at /s = 4.19,4.20,4.21 ... GeV.

Thanks for your attention!
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S: MC simulation
B: Data in x., sideband region [3.30,3.36] GeV
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